AddaR247

MAXIMUM MARKS : 150
Part-A - 50 Marks
Part-B - 100 Marks

OMR ANSWER

SHEET NUMBER

SIGNATURE OF
THE CANDIDATE

INSTRUCTIONS TO THE CANDIDATES

QUESTION BOOKLET CODE :
DURATION : 150 Minutes

CODE : CHOS B

ROLL NUMBER :

509290

NAME OF THE
CANDIDATE :

QUESTION BOOKLET NO.

NB: NO CANDIDATE WILL LEAVE THE EXAMINATION HALL BEFORE THE END OF EXAMINATION.
Check the Roll no. marked on your Seat. If any candidate is found sitting on the ‘Roll number’
of any other candidate, it may lead to cancellation of his/her examination.

1. All the questions in the test are of multiple choice questions. Each question carries 1 mark and has
four alternatives.

2. Write your Roll Number in the designated space on the OMR Answer Sheet and the Question Paper.

3. CAREFULLY READ ALL THE INSTRUCTIONS ON SIDE-1 OF YOUR OMR ANSWER SHEET. Note
that the Question Booklet Code, Centre Number, Question Booklet Number and Roll Number at the
bottom of side-1 of OMR Answer Sheet in only an example. Do not copy these numbers on side-2 of

- the OMR Answer Sheet.

4. DO NOT DAMAGE OR FOLD THE OMR ANSWER SHEET.

5. On side-2 of the OMR Answer Sheet, fill up your (a) QUESTION BOOKLET CODE, (b) CENTRE NUMBER,
(c) QUESTION BOOKLET NUMBER AND (d) ROLL NUMBER . Write these as numbers in the square
boxes and also darken the appropriate circles. Candidate will be responsible for errors in evaluation
due to not filling/wrongly filling these boxes and circles on the OMR Answer Sheet.

6. Check that the Question Booklet Code (SET—A, SET—B, SET—C, SET—D) which you have written on
your OMR Answer Sheet, is the same as the one on your Question Paper.

7. Your 6-digit Question Booklet NUMBER is located at the top right-hand corner of this instruction sheet.

8. If any question is missing, bring the fact to the notice of the invigilator immediately and get
your question paper changed.

9. Each question has only one correct answer. Indicate your most appropriate answer by
completely darkening the circle enclosing the appropriate option on side-2 of the OMR Answer Sheet.
EXAMPLE OF CORRECT DARKENING EXAMPLE OF INCORRECT DARKENING

Q. No. Responses Q. No. Responses

50 @00 e 50 ®@ ® © @

10. In case more than one circle is darkened for a particular question, it will be marked as incorrect even
if the second circle was darkened only partially.
11. Use only black or blue ball point peh.
12. U Lo bile Phone is ermitted.
13. This Question Booklet consists of the following parts :
Part-A : Question No.: 1 - 50
Part-B : Question No.: 51 - 150
14. There will be No negative marking in Part-A and there is negative marking of (0-25 or %) for
the incorrect responses in Part-B.
Part-B will be evaluated only if a candidate scores minimum 50% marks (i.e. 25 marks) in Part-A.
15. Do not deface the OMR Answer Sheet,

16. Do not keep any paper or material with yourself, from which you may be able to derive help directly or
indirectly in the examination. If any such material is recovered from you, action will be taken against
you for resorting to unfair means.

17. Do not smuggle out questions by writing them on a piece of paper or any part of your body during
examination. Doing so will attract disciplinary action and may lead to cancellation of your examination.

Note: If any discrepancy is found in the Punjabi version, then the English version will be

considered as authentic,

DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO
1-B

/


https://applink.adda247.com/d/XhqWf9lSap

Adda247 , .

PART—A/S<r—A
1. &< I fefaraing wigarg s <t &1 §é‘cﬁwaaafeafé’rfarrafaa*w%7

(f wE=
(b) fomaas
(¢ fout
(d) g=m|

2. MU AIST § ‘AIIg-T-HSAT 3 VIUT § ‘TIT9-T-HBAT & faH & i3
(a) H 99 Jgdifde wigy +#t
/ﬂ’avawavaaﬁgfnur
(¢ T 3rg difde fifw #
(d) wﬁ:rurwea

3.Uﬁwrﬁm8ﬁ=r&mrfan faneaﬁ-nmﬁﬁhr?
(@) fHY-go w3 wiagat fegag
(b)/ €= fiiw gT7ag »3 HaB' fegag
(©) HITH I3 AW w3 Has' fesag
) H a3 Fde fhe w3 yers fegare

4. Uart g S goHs-finrdt Bx-U faodt 37
() &t
(b) IEH
(cy o8
(d) T

5. 33d ¥ fourg A, B3a Tfen @ wa faox fis o 7w 9572
(@) BI
(b)~ Wit
(c) S

(d) MBIt
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6. mé@mmme@wmmgmmw&mm@mw
yaad St e & 31 gaet feamy g & ¥l AES 99

(ay” THaStort
(b) T

(c) Wb
(d) Btort

74 I8 fadfor 831 155 faodt daw & yorss 89-83 7
@ fgoe
(b) EfHar
(c) g3fiies
(d) |

8. T 7 ¥ At = Wy faw 99 wifaws 575 I7
(@) H 39 35a o=

9. Ht IF »igws v= M’ B ffs gar fow gt ot 2
(a) 30 Jmar f&g
(b)" 19 Frart fS9
() 17 3ar f39
(d) 153mr &g |
10. ‘W’Eﬁmﬁm@m%sﬁzﬁ?
(@) Ht 9Ig »iae e= +Ht
b g afde fhw
(c) Ht Ig &x T Hft

(d) /Ht 919 nigws @= Hft
/1-B (3) | | P.T.O.
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11. it 99 »lore ¥= Y et @ fla< I wrioes 767
(of A
(b) A
(c 99
(d) &2

12. ‘H 99 wiows = H fam qg RS @ WIS WE7
(2) H I9 sex = H
(b) /Ht AF wiare T= H
() H Ig »higew
) H I THeE
13. ‘Kt TF 390 worew Y § fxw wES 3wt g fmire
() B9 fey :
(b) Wwrgr fey
)/ Tredt 3 f3f e
(d) =g fegr

14."mn’e‘?awfanq1§whws%aﬁa°r?
(2) Tt I 397 so=a
(by Hf 919 dfde friw
() H I3 38a 2= HHt
(d) H g »iIws = Ht |
15. Hf Ig dfde fitw #° S 37t Wt fivw wi ‘A 919 g wrfow # € a=t @3 faW
WMAETS '3 FJISEnT?
(a) Ht néeyg wriey
(b oft Tt (Tt )
(q)/ fa=gre <t v

(d) 9HAT wiae
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16. 35 fotmit 19 foaar Fae ‘2t Tadr’ @@ MHGOed AE 3 :
() mEt
(b) BT
(@ &
@ 55
17. 35 fefimit £ weft fegdt wae v 98
(a) E?J'/li'% |
(b) T3/T&I

(@) e G
18. 35 fofimr 29 fagar Hoe i/ @R’ o AHETEd 37
@ ¥ |
(b)/ EInG)
(c) dA=E
) I8

Mmaaézr
(b) ¥I3 JW ¥I9 J&
(c) ¥BH J wer
(d) W dH I

I Frar 2

(a) & &5 ¢ Tr
(b/?m*/i—or SLErY
(¢ 33 Fy=r

0 e _

19. I3 &3 fegmyt f&d Haregr e Her ¥ El Ta=t wag gE :

20. ‘BMT" FTET A fueT J9aT wiget § FURE F96 SEt I ot T faoar Ho=a
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) | 21. 5 AR fegmyt 5§ yoeeT WU HT & S’ Bt faoar/faad wew wft d<ary
Jear?
(@) H7 foms 3 o
W fdo< v & & 8=
() Fe-FeuT FaE
(d) (a) 23 (c) €2
22. murE S Bt I3 ot S R WY =afour wer 37
(a) €S 7€ v 3t St § 7 3 Hew Ut q9-a9 <R
(R < #< feg Ire R 1% FTmiE I9 HHB § winvet 9w o eat &9 e §

(cj@é‘ﬂé‘feafﬂw%waﬁ%meﬁw@é(vm@ma%wﬁ%wgw
I3 I AR

(d) €2 7 fai Wy § &3 & =T et »h IR

23. “ﬁﬁww@w—ﬁw%uﬁw&q%aﬁwﬁ%ﬁﬁ%m HS AT g7
éﬂ?mwmwwwﬁ”@é@nwﬁwmeaﬁwn*%&m

B o fos 33 0B, I3 R faod 3B
(b) B TIER, I T IF yEe |
(o) HeY ugHiE I\ fimr, fer yadie IF e
(d) §JI" 3 BT, YT UF I
24. TR A nye ‘g7 ¥ 3 IS 3 ygdd’ =9fIwr wiwr J, §F HA 39 faga
YTE FIT A7 Hae 92 93 I feamyt &9 v<:
((a) 3 Wt Aer 397, 78 g9 gH3g Ho |
(

b) 3By I gEAS I yadw
\(% fefsnt § THE W9 3 HoaT faf edie
ﬁw%&aﬁa&aﬁ

25. J& fBfimrt &5 fagz™ »disy S o fimersd wuet @ »iew €8¢ I w7 J&:
W 7 |
(b) =" ‘
© #H

@ By
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26. MHl fugsg Ba1 & g5 BT Al HEE ¥
@ "
(b FEe
(c). T
(d) It

27. AE’ WJ3T BT § 95 B AT HEE TS
(a) HEA
(b) WeEH
(c) Weg
(d)y wEsHS:

28. ‘T dI39 Ba1 ¥ g5 B AT AEE FE:
(a) BTE ‘
(b) B
(cy” Tfegm
(d) s

29. {995 wigHg Aagd Hue fdt famy € d€ T57
(a) U

(b) »i&
(c) <H
(d) =gt
30. Ot TgeHe feg ‘H’ g /mig fagdt s/ faadnt et &9 B8 maef @

89795 § Wt qu e yareS Bt ‘sfts =9 S A g fami e Wt feaey
g

(a) Bgg
(by” =rawft
() Tt w3 wnfae
(d) Qudsz mrcfort

\ e ——————
/1-B (7) [P.T.0.
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| 31.Wmﬁ‘mw/m’?mmmém%mE
HHS 137 famyr?
Bz
'((b) Cl
€ %
(d) =t

32. WS & 339t § 3ot 3 o 937 v = a1 o=m § ves oF At TF g
() WSS & gt § dardt 3 oW g |
(b) H®I & &a9 g dadt 3 g 3T
(Y W & 399 3 dadt 3 ow fogr
(d) fegst f5 St & &
33. ‘UH™ #ft 3 o #ft g W@ T wr a1 wew q gSs TET At T ¥E
(@) W 3 vt ft A v
(o ¥nft #t 3 Fem &g o
(c) W™+t 3 o= #ft g wrr
(d) fegs’ &5 et <t ot
34. WiaHT’ Wee T wg-TWs ot I7
(of wigoHT
(b) wfgaHTIT
(c) wfgsaTt
(d) wfasras

35. Yt 9T @ g3 muet fire: &9, €3 wife § fous gu fide wi, o 79 ufgs™ wid
83 F fafimr 72 37 G wivyg & & faoar fema g wrfenr wier 37

(b) Hdae .
b (c) 3w o
(@ efih ' i
/1-B (8) /
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(36. E9ET! wd YT 3 U§9 5o I8’ =g fog ‘wuded’ mee fenfia & fau
fami @r meE 97
(a) wHiA-T9a ferfia
((b) Heudt ferfia
W—Wﬁnﬁm
(d) J9mat Twa-fenfha
37. ‘TEhnt T ue <t A9 Bt =93 A HEe @ HU Y IS ¢
(a) ﬁB‘HT?ST
(b) =tBuar
s
d) s
38. HU TF ge ;
(@) P 32 gt et 75
(b), Yt gFhoit it T3 3@
(/Wtﬁwgzazﬁwaa
(d) ISt I8 g2 I bt
39. At Hue-77 9
(@) Guwey
b) GuzHEy
() Suzsy

o usa
40. 35 fafiprt f55 fagg Uardt WEe Estate Officer’ ¥ niIE § yarergar J7
(@) fHEY newg
(b) »HBT-n1eHT
© -yt mgwa

4 F-Hurg weHa
/1-B (9) [ P.T.O.
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41. ‘saondY 7 ‘Tiftmr’ et wladHdt T faggr wEw ga=t 97
© (a) Sediment
(b) Realistic

(_9{ Review

(d) Sabotage

42. ‘Lexicographer’ et yardt fe9 fagoaT wee =afamr #er 972
(a) = |
(/s
() ¥xred
() FR-EH

43. WJGHt T HEE District’ B¢ 7y Yart gu g

44. J23 2 fos T & B U UAE QU 9E:
(@) HeTE
(b) HegE
(c) HaIg=d
(d) HaI9=9

45. MadHft WS ‘September’ § Ut 9 HU gu 59 faw 3g fefimm araar?
(a) HiS=g
() Frde
(c) wfdgg

(d) W3Hg
/1-B (10)
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46. IOy forcdt 19 f8 ‘Fer 195’ & whofy g fam 397 (o A=ar? |
Three and a quarter
{;) Three and a half

(c) Three and three quarter

(d) Less than three

47. W& 5% & TIHHt foredt 1S9 fam 397 fafim wraar?
(a) U w 3
(b) W= Uw %
() A A
(yﬁ%%

48. ‘Gt § vixt &g fa2 fofumr Fram o
(@) 59
(b) 69

(V' 79

* (d) 89

49. ot faft fagx farft ufaeg 1S9 7ot 372 W

I v (a) SIHt @

(b) IHE
()" gt
) ot

80. “wiHf nr g g =y 9 faowr mEe ‘G932
(@) /mivdt |
(b) w
(c) &

(d) T
/1-B (11)
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51. Name the author of Mere Rahan
De Rang.

(@) Bawa Balwant
(b) S. S. Wanjara Bedi
0 (c) Prof. Puran Singh

(d) Balwant Gargi

52. The International Day of Yoga is
celebrated across the world
annually on

(@) 19th June
(b) 20th June
(c)/ 21st June
(d) 21st July

53. World Environment Day is
celebrated on every year.

(a) Sth May
(b) Sth June
(c) 6th May
(d) 6th June

54. Which Indian has Dbeen
nominated by the US President
Joe Biden to lead the World
Bank?

(a) Indra Nooyi
(b) Raghuram Rajan
(c) Satya Nadella

(d) Ajay Banga

PART—B/S<M—B

51. ‘A9 977 € Jar YA @ Bya <
&H S|
() ¥ B3
(b) H. H. T=A9" g
() Y. y3s friwr
(d) ¥3<3 Irgdft

52. M3ggHcA War feemr 9 A
$ feme 39 <9 warfemr aier
(@ 1998
(b) 208F&
() 2195
(d) 217sTE

53. fene =3=gs foen W S __ |
& HaTomT FieT JI
(@) 5 Het
(b) 5¥s
(c) 6 HEt
(d) 6T

54. »iHdta™ @ IHeavdt § 9SS
ogr feme S < et 399

ot fan 39t § aHme i3 fomr
J?

(a) foeT &
(b) TIWIH THE
(c) Wisnr a3sr
(d) »e Har

/1-B
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57.

58.

59,

/1.B

55.

56.

Where will the next Olympics
games (2024) be held?

(a)
(b)
(c)
d

Paris

India

England

Russia

Sunil Chhetri is associated with
which game/sports?

(a) Cricket

(b)
(c)
(d)

Hockey
Football
Kabaddi

The famous Puranchand Wadali
is associated with field.

(a)
(b)
(c)
(d)

Dance
Music
Business

Education

Name the city which was host to
the (G-20) 2nd Education
Working Group (EAWG) meeting
from 15-17th March 2023.

(a)
(b)
(c)
(d)

Amritsar
Bathinda
Patiala
Pathankot

In which category, the movie
‘RRR’ won the Oscar Award?

(a)
(b)
(c)
(d)

Best Screenplay
Best Sound Mixing
Best Original Song

Best Picture

56.

57.

58.

59.

(b)) W3

(ay wifzHa

GET IT ON
Google Play

55, i GBRE U3 (2024) T

Jeaftm™?

§ets 23t fan ¥3 & Hdfaz 39
(a) T

(b) Tt

(c) SIS

(d) =St

Hefuz Is|
(a) 3H

(c) =Jgd
(d) fAfw

B wigg = aH &F, i & 15-17
H'99 2023 § (G-20) gt WgawHs|
SIfdar QU (EAWG) Hifdar <t
Haaat i

(b) =f&sT
(c) ufenmrzr
(d) UE'Ede
fe8H RRR’ & faw 72t &9 »wa
"I9S frfanr?

(a) HFe Wills uB

(b) EWe wg3 fuafifar
(¢ ¥We ys I3

(d) &We IFT

(13)
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60.

61.

62.

63.

Name the person who was
posthumously conferred the
Padma Shri award for his
contributions in the field of trade
and industry for 2023.

(a) Cyrus Mistry
(b) Bappi Lahiri
(c) Rahul Bajaj

- (d) Rakesh Radheshyam

Jhunjhunwala
Which of the following towns is
known as nursery of football?
(@) Gurdaspur
(b) Mahilpur
(c) Mukerian
(d) * Fazilka

Mahé.raja Ranjit Singh belonged
to Misl.

(a) Ahluwalia
" (b) Shukerchakkya

(c) Kanhaiya

(d) Ramgarhia

The total area of the State.of
Punjab is

(a) 48,362 square kilometers

(b) 49,362 square kilometers

(¢) 50,362 square kilometers.

(d) 51,362 square kilometers

60. On fonmadt & s €A, fam 3
2023 B¢, JuTg w3 Gedar € U39
<9 €n © Goes Bt Has Guds
U=H Ht yanag fegr fapr Hi
(a) ATegH fHA3dt
(b) St sfadt
(c) TIB EAH
(d) JGH TUHH F&F6TBT

61. I5 fafipr 55 fagar WRTS geus
&t sandt = Ao FET 97
(a) IIEHYT
(b) Hrfamyg
() yardtut
d) =fasar |

62. HITH' I3 fAw ____ fins &5
' HYU Jye W&l
(@) »rIZ=HM
(b) HIGTeLPT
(c) e
(d) FHIPT

ss.ﬁw'éa'?r?isﬁm__ﬁl
(a) 48,362 <91 fadiieg
(b) 49,362 T fadifteq
(c) 50,362 T91 fadifteg
(d) 51,362 I fadifteq

/1-B
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Which of the following is the other |

SR

64.

65.

66.

67|

/1.B

name of Harappan Civilisation?
(@) Indus Valley Civilisation
(b) Egyptian Civilisation

(c) Vedic Civiliéation

(d) Mesopotamian Civilisation

Who founded the Mauryan

Empire?

(a) Nanda rulers

(b) Samudragupta

(c) Ashoka

(d) Chandragupta Maurya
Where is Sanchi Stupa situated
at?

(a) Near Jammu

(b) Near Bhopal

(c) Near Chennai

(d) Near Jaipur

Where did the Revolt of 1857

start? Jfenrr |
() Delhi (a) fodh

(b) Ambala (b) wiamgr

() Meerut (c) HIS

(d) Firoépur (d) fedwmyg

64.

65.

66.

67.

GET IT ON
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fegst f&d TaUT AfewzT T g a7
fogar 372

a) fig wt & wfenrar
(b) fHra <t Afenar

) fed Afgnizr

(d) ARTeHT & Afenzr

Hdm A HI™H &t Aavs fam 3
CiEi

(a) &2 AR
(b) AHEIIUI
(o Mad

(d) J=Taz Hfonr

At w3v foy mfgs 92
(@) Wy %I

(b) BT X

(c) I&Et 2 F3

(d) #yT 57

1857 ¥t wr fewdg fd§ wY

(18)
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68. Where did Gandhiji  use | gg, gt #t % ufgedt =9 Afwmfa f

Satyagraha for the first time? Az o
India
(a) India @)
b) South Africa -
o ' (b) THI mEdtar
() South America o e
: - (c) TS it
(d) England .
(d) féarss
69. was the moderate leader of . . -
Congress. 69. _ JWIGH T &IH Tl a37
H

(a) Lala Lajpat Rai
(a) TS JTAUI IE
(b) Bipin Chandra Pal
(b) fafus Je3 Us
(c) Bal Gangadhar Tilak:
(c) ¥ diorug f3sa

(d) Gopal Krishna Gokhale
- (d) IS fgHs IS

70. What is the percentage of

nitrogen in the atmosphere? | 70. ag—ﬁss <9 6'5”2?16 | \Efm??
fdat 37
Q (a) 21%
: (@ 21%
(b) 78%
_ (b) 78%
(c) 84% () 84%
(d) 87% (d) 87%
,71. Petroleum is also famous as 71. USISH, = < HEgT J|
(a) Mustard oil (a) F@' oI
(b) Coconut oil (b) &S T 3IB
(c) Crude oil (@) qTT IS
(d) Petrol 1. (d) e |

/1-B (16)
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Which of the following is the
most common cause of goiter?

72.

(a) Vitamin D deficiency
(b) Iodine deficiency

(c)

(d) Iron deficiency

Calcium deficiency

73. What does GST stand for?
(a) Goods and Sharing Tax
(b) Good and Silent Tax

(c) Grand Services Tax

(d)/ Goods and Services Tax

74. Which Government authority

issues the currency notes in
India?

(a) The State Bank of India
(b) The Ministry of Home Affairs
(c) The Reserve Bank of India

(d) NITI Aayog

75. F)hatGPT is an artificial k| g feafis i3 famr
intelligence (AI) chatbot 3
developed by
(a) Google (@) s
(b) OpenAl (b) GusEn
(c) Wipro () Tud
ld) Apple (d) YRS

7z.ﬁ‘h§se°rar+ﬁ?m§nrﬁ+mﬁs
fofimrt f&9 faaar I7
(a) feefvs 3t
(b) mfeEsls
(c) SASBHPMH
(d) wfegs & ot

73. #oawet v fenfgz & ot 92
(a) TAZ M3 Tifdar 2am
(b) T W3 WDy aw
(c) I3 wfefma 2am

(d) =HAT W3 AEet 2aH

74. fagdt AIadt wEgdt g9z &4

It Be At Fadt I7
(a) W §F wirg fégtnrr
(b) Tffa T

(c) 39t faud= g«
(d) FF ndar

75. ChatGPT fEa aast gt (A1) Y28

/1B
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78.

79.

C

76. Find the mis-spelt word from the following :

(@) Fyrniture
(by” Alphabate
(c) Dozen

(d) Office

77. Give one word substitution for the following :

A list of name of books
(a) Index

(b) Content list

(c) Catalogue

(d) Itinerary

Which one of the following is correct?

(a) These cattles are mine

(;(Mhese cattle are mine

(c) These cattles is mine

(d) These cattles was mine

All that glitters

| not gold.
(a) Was

(b) Is

(c) Wil

(d) Shall

/1-B
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80. If she wins the match, she

get a lot of money.

(a) Was

(b) Should
 Is ’
((d) Will
81. Change the voice :
They did not listen to me.
(a) They do not listen to me
M [ was not listened by them ]

(é) [ am not listening to them

(d) They are not listened by me

82. Change the narration :
Radha said, “I am going home now.”
(a) Radha said that she will going home then
W Radha said that she is going home then
(c) Radha said that she was going home then

(d) Radha said that she was going home now

83. Rewrite the following by using the Present Perfect Tense :
We ____ each other for past ten years. (know)

) Have known
(b) Had known

(c) Were known

td) Have been knowing
/1-B , (19) [P.T.0.
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84. Fill in the blank with the suitable word from the given options :
Can you this stick?

(a) Brake
(b) Break

9/ Broke

(d) Bleak
85. Choose the one which best expresses the meaning of the idiom :
“Apple of one’s eye” ' :
(@) Cheap thing
(b) Fruit
(c) Eye flu
(d) /Valuable thing

86. Out of the given alternatives, choose the word which is oppos1te in meaning
to the given word :

DEEP
(a)/Hjuow
(b). Profound
() Shallow
(d) Willow

87.  Out of the given alternatives, choose the word which is same in meaning or|
nearest in meaning to the given word :

VACANT
(a) Full

(Macation

(c) Decorative

(d) Empty
/1B (20)
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89. ‘J= wWEw-ov ét_r—t—se?s Cigh b
(a) TIgrar
(b) TI=rETHT

(c) T=h

(@ A

90. ‘BIar Tyt W fapur’ T® = {89 9E8 I g5 TFT W T e
(a) _Baﬁwwaﬁtﬁar%
(lym‘q"r-wwﬁiﬁm

(c) BIfn™ T I Ut Wt fagmr

Mwwﬁlﬂm{f
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91. f5J=" A ‘I’ HuT T AHSHIES HE< 3t 972

a) 9T JHIT
(b) "d‘aa";
() VYI& feaw

d) Jar

92. Fdt mue-7g v
()/ Ba=t
(b) et
(c) e
(@) T
93. J5 8y =g &5 fafon wae 9 .
(a) <=
(b) W

(€ f<
(dy "=
94. ‘@HI3’ WuwT w fesugud Huw fao3T I7

(@) YHAT
(b) fA=3

’ (c) =famret
@)/ fBfemr
-B

/1 (22)
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95. 35 fofinrt f35 faga™ Uamft HET Folklore’ @ wad § YIeger J72 A

(a) BI/FE3T
(b) BI-TrgT

() SF-¥z'

_(9;/ 8-ty

96. WfamT &7 B 95 T Tl fid Hyw 9 :
(@) JIH
(b) BIHS

(c) "Mew

(dvﬁmnawﬁ

97. HI=g™ ‘T=ret fa® Ergsr’ TEt waw »9E TS
(a) /STt »HT g BSort
(b) T=r 9 fag = fsanre s3a"

(© 593 € o

(d) for = fowas 3T & ST

P — AN
/B (23) [P.T.O.
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08. “7d et Yoy w o e HA <9 wifenrr, myEvt Hg-1g F ww Jer 37 €8
OF st fagzr wiyte Al AT<AT? |

(a) It wregt 9 IBET
(b) 83 vt ug gaut @ WIS &t Tt
() 83 <t v Jiee

Q@) T2 It g Wt

99. ‘¥’ »dI39 B X §I& H’ HIt HEE TS
(a) =t
(b) TI9
© =it
(ci) 2
100. ‘¥’ U839 ¥a1 4 95 THT AA HEE IS :

@Azm

(b) fog

' (c) TF

d) 53

/1-B (24)
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101. If 22% of x=30% of y, then y : x
is equal to '

(a) 15:11
(b) 15: 14
() 17:16
(d) 11:15
102. A train of length 350 m crosses a
bridge of length 250 m in

20 seconds. What is the speed of
the train (in km/h)?

(a) 95
(b) 72
(c) 108
(d) 88

103. A bus covers a 60 km distance in
1 hour 30 minutes, whereas the
same distance is covered by a car
in 45 minutes. What is the ratio

of the speed of the car to the
speed of the bus?

(@ 2:1
(b) 1:5
{¢) 348
(d 5:3

104. If the average of 7, 11, 15, x, 14,
21,251is 15, »then the value of xis

101. 799 x € 22% = y¥ 30% J, 3

102. 350 Hieg Bt fea 25 250 Hieg 39

103. feg g1 1 W2 30 fiHe <9 60 fanft

K. & 4
104.7, 11, 15, x, 14, 21, 25 &' WA

(@ 3 (@ 3 e
(b) 145 (b) 145
€ 12 () 12

| @ 183 (d) 133

y:x THSH I?
(@ 15:11
(b) 15: 14
(c) 17:16
(d) 11:15

ys § 20 Afdg <9 yg a9<t 91
& ggz9 (faft e f&9) <ft 972
(a) 95
(b) 72
(c) 108
(d) 88

&t gt 3 9t 9, A< fa & T
ot f8a a9 T 45 fife f&9 3
it At 1 9 ot 9839 w3 °§R
&t 9839 T wiguz ft T2

(@ 2:
(b) 1
() 3:
(d 5

w o u =

153, ST xT s ft 9

/1-B
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The perimeter of a square is
equal to the perimeter of a
rectangle. The perimeter of the
square is 40 m. If the breadth of
the rectangle is two-third of its
length, then what is the area
(in m?) of the rectangle? '

(@) 100
(b) 96
(c) 84
(d) 121

Four numbers have been given,
out of which three are alike in

some manner and the fourth one
-is different. Choose the odd one

out.

(@ 19

(b) 23

(c) 45

(d) 83

From the given four words, which
word will come in the last in an
English dictionary?

(a) Pragmatic

(b) Protect

(c) Pastel

(d) Peacock

105. g =gar = ufomy & »fes

106.

107.

UfgHmy @ 99799 J1 =991 =7 UfgHy
40 m J| #dg wfeg & I3 fon
&t dget @ 9-f3gret 9, 37 wifes
T 439e8 (m2 feg) T2

(a) 100
(b) 96
(c) 84

(d) 121

foft & it gu 29 9 Fird 75 3
Jur i e 31 ST § oS -

(@ 1974, %
(b) 235 / L
(c) 454\ !

(d) 83 «n °

niggHt fsamadt f& »nfl T“—%'?tJ
T 2

(@) Pragmatic
(B)/ Protect

(c) Pastel

(d) Peacock
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108.

109.

110.

|
111.
/1B
l

Choose the odd one out from the
given alternatives.

(a) Asia

(b) Europe‘

.(c) Australia

(d) Arctic

If K denotes ‘<’, T denotes “’, V
denotes ‘+’ and R denotes ‘-,
then 16 V24 TS R6T2K3="?

(a) 10
(b) 11
() 12
(d 13
P is the brother of D. X is the
sister of P. A is the brother of F. F

is the daughter of D. M is the
father of X. Who is the uncle of A?

(a) F

(b) M

(¢ P

d X

Find the missing alphabet in the
given sequence :
Z,X,V,T,?,P,N
(a) S

(b) R

() U

d Q

108, fiF3 ar® foasy’ &9 249 & 3¢ :
(a) &b,

€)7o
(c) MHEMT

109.759 K ¥ 3§ TIAger 3, T + §

R & 9 Ge J, I
16Y24:{’81}61’l_‘2§3=?
a)y’10

(b) 11

(c) 12

(d) 13

110. PDT 33" J| X Pt 9 J1 AFer
g JI FDR G T MxT fusT 3
AT YT AT I?7 %%

2 2
@ F (53 7‘7‘\
(b) M Q%‘Lp A\
19/ P i\aﬂ“
(d) X

111. f€3 qu &9 ofw I8 <waws 2
g § 837
Z,X,V,T,? P,N
(@) S
(bR
(c) U
(d) Q

[P.T.O.
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112. Select the one which is different
~ from the other responses.

(a) DFH
(b) JLN
(c) QRS
(d) AUWY
113.In a certain code language
COMPUTER is written as

RNLOTSDC. How will MEDICINE
be written in that code language?

(a) . EDCHBHMM
(b) LDCHBHMD
() EDCJDHMM
(d) EFEJDJOM
114. In a row of 60 persons, Ganesh is

26th from the left end. Find out
his position from the right end.

(a) 35
(b) 36
(c) 34

(d) Cannot be determined

112.@Ufé’a§é‘ﬁ.gﬁwa+§éua*%r:
(a) DFH

(b) JLN.

P

(d) uwy

2. 2

& RNLOTSDC fafimr wigr g
MEDICINE § €7 33 7 &g faz
&fmr 7rar 2

J(}/EDCHBHMM

o(b) LDCHBHMD

113. f83 Y/ 93 g fag COMPUTER]
l

(c) EDCJDHMM

(d) EFEJDJOM - |

114. 60 feniadnt &t 3@ g, IS
vy fAd 2 26 T AE'S T J| Ao fie
z‘s‘@nzﬁnfa'lz"r@wm:

Sl

(ay35 *

(b) 36
(c) 34

(d) lmm‘fa??wm
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[115. Which symbol is used in MS-
Excel to begin a formula or

function?
(@ $
(b) @
(c) =
(d) #

116. Which  of the following
statements is/are correct about
the main memory of a computer?

(a) Data gets lost from the main
memory when power is
switched off

(b) Main memory is slower than
the secondary memory

() Main memory is very
inexpensive memory

(d) All of the above

117. Which key of keyboard is used to
change the case of characters
from lower to upper?

(a) ESC

(b) Return
(c) Alt

(d) Shift

118. Which of the following shortcuts
is used to search some text in a
Word document?

(a) Ctrl+ A
(b) Ctrl + H
(c) Ctrl+ F

(d) Ctrl+S
B

115, g @OYs' A" WG HY 95 BE
MS-Excel &9 fagar fdg =afamm
AT 972
(a) %

o(b) @
(c) , =

S/

116. dfueg & vy IRdt 99 Ist 93
qgat fe9 fagzr mft 97
(a) Data gets lost from the main

memory- when power is
.- switched off

(b) Main memory is slower than
the secondary memory

() Main memory is very
inexpensive memory

(d) Gug I3 A9

117. 743" € 9H § I&8 3 Gug <@
HUse wHt dftags ot faodt
TS 7 92

(a) ESC
(b) Return
(c) Alt

(d) Ctrl +8

(29)
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119. Which of the following will you
use to view webpages on your
computer?

()

(b) Remote server

()
(d) Web browser

Graphics software

System software

120. Which of the following is not an

example of operating system?
(a) Android

(b) Linux

(c) Microsoft Windows

(d) MS-Office

121. Portrait and Landscape are the

examples of

(a) Page size

(b) Page orientation
()
(d) Page layout

Page margins

122. Which of the following operations

will you perform if you need to
move some text in a Word
document?

(a) Copy and Paste
(b) Cut and Paste

(c) Paste and Delete

(d) Paste and Cut

119. 3ff »mud MuGeq 3 T W §

ye et Ja' o3 9 fam <& =93
Jdd1?
(a) Graphics software
(b) Remote server
(c) System software
(d) Web browser
120. J&" f&3 &5 fagzr Guafdar famen
&t Gerg9s &4t 37
(@) Android
Crb) Linux
(c) Microsoft Windows
(d) MS-Office

121. Ugede w3 S3Aay It Geraas

J&
Mage size

(b) Page orientation

()
(d) Page layout

Page margins

122. 7199 37§ IS Sghe <9 fan 2ane

3 ¥e 395 <t 83 I 3 It I 93
fS9 fags I9q F991 2

@/Copy and Paste

(b) Cut and Paste

()
(d) Paste and Cut

Paste and Delete

/1-B
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123. The basic unit of a worksheet
into which you enter data in
MS-Excel is called
(a) Cell
(b) Table
() Box

(d) Column

124. Which of the following is a

correct format of Email address?
(a) sample@gmail@com
(b) sample@gmail.com
(c)

(d) http.sample.com

www.sample.com

125. Which of the following is not a

region in Punjab?
(a) Majha
(b) Doaba
()
(d) Puadh

Awadh

'|126. What is the longitudinal extent of

Punjab?

(a) 73-55° East to 76-50° East
(b) 73-55° West to 76:50° West
(©) 70-55° East to 76:-50° East

(d) 70-55° West to 76-50° West

123. =9arle & Hedl feardt fam foy
gHf MS-Excel {39 327 g age
3 g faar AEr J
(a) Cell
(b) Table
(c)
O (dy~Column

124, 357 fd3 &9 faaar s u3 = wdft
qgHE I7
(a) sample@gmail@com
(QY sample@gmail.com
()
(d) http.sample.com

Box

www.sample.com

125. 35 fafimit &9 faosr ¥ae = 939
&t 32
(a) W7
(b) T
(e} W=y
(d) g

126.1‘&3 v fowisdt femgw & whe
feigt 32
(a)
(b)
(c)
(d)

73:55° yd¥ 3 76:50° V¥ I
73:55° U&H 3 76'50° UgH
70:55° Y399 3 76-50° YI¥ I

70-55° Ug&H 3 76:50° UgH

/1-B
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(a)

128.

(a)

129,

130.

127. Who among the following Sufi

Saints is considered as the first
poet of Punjabi?

Sheikh Salim C-histi

(b) Sheikh Moinuddin Chisti
(c)
(d) Sheikh Nizamuddin Auliya

Sheikh Farid

Whic;h. of the following Mughal
chronicles mentions Punjab as
the territory that can be divided

~into provinces of Lahore and

Multan?

Ain-e-Akbari
(b)
()
(d)

Humayun-nama

Babur Nama

Badshah Nama

In the Mahabharata, Punjab is
describéd.as

(a)
(b) Panchsheel
(c)
(d) Panchmark

Pancha-nada

Panchmukh

Who wés the last Sikh ruler?‘
(@) Maharaja Dalip Singh
(b) Maharaja Ranjit Singh
(c) Jassa Singh Ahluwalia

(d) Hari Singh

/1-B

127. 35 fafumit 9 fan gt HS & el

128.

o ufagT st Hiew Aier 372
(a) W A fomdt

(b) Y Wetsels fanst

(c) Y gdte

(d) Y faaH<ts wEha
I3 farft wors fefsoma gua= S

fan feg Uag v R 439 =7 faaq
i3 farr™ I fam & JIT M3 HBIB,

129.

yigt &9 Sfm 7 Haer J2
(a) MEE-E-niaEd!

(b) THig-amHT

(c) IHF FH

(d) ISR FHT
eﬁaﬂ?fﬁwﬁ

C(b) Uoifts
(c) U9HY

(d) YeHTd

130. Myt fiy WA d< Hi?
* (a) HIgHT SN fiw
(b) HITTT IS frhw
HAT TR »ragT
@) T it

~ ()

Ha993 feg ¥ag = T9&<

(32)
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131. Which of the following is a folk
embroidery art of Punjab?

(a) Basohli Art
(b) Pochampally
(c) Madhubani
(d) Phulkari

The ancient name of river Ravi is

(@) Purushni

132.

(b) Vipasa
.(c) Askini

(d) Sarsuti
133.In 1948, the Princely States of
Punjab which included Patiala,
Nabha, -Malerkotla, Jind,
Kapurthala, Faridkot, Nalagarh
and Kalsia were combined and a
new State of PEPSU was formed.

What does PEPSU stand for?
(a)

Patiala and East Punjab
Students Union

(b) Patiala and Early Punjab

States Union

() Pathankot and East Punjab

States Union

(d) Patiala ‘and East Punjab

States Union

134. How many districts are there in
Punjab State? '

(a) 20
(b) 25
() 23
(d) 28

131. fegs &5 faadt dag &t & aerd
IBT I7?

(a) wEHE I&
(b) TaHUE
(c) Hyg=al

12.37@ st erydts oW T
(a) ygwal
(b) feumr
(c) MAfast
¢ (d) FIHSt

133. 1948 fe9, ¥ag <t fonmz fan &9
ufenrsT, &797, WBJdesT, Hiw,
YIET, TdTIe, FHEF w3
IBHMT HHE Ha, & feT a fEq
32 I Wy’ g=for fap
tyg = off »og I2
(a) Ufenrsr w3 dine o mgae

gams
(b) UfeWTsT w3 wTst UaA™s AeH|
() Yaaae w3 diHe A WoeH|

(d) / ufenmaT w3 dine UwY AEew

IS

134. 47y g f&9 ffs fad 952
(@) 220

(b) 25
Jer”

23
(d) 28

/1-B
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135. The undulating plains and Kandi
area of Punjab are home of this
type of vegetation. In this
statement, the vegetation
mentioned is

(a) Tropical thorny vegetation

(b) Tropical
vegetation

dry deciduous

(d) Subtropical scrub hill

vegetation

136. Who among the following Gurus
established the ‘Manji-system’?

(a) Guru Angad Dev ji
(b) Guru Amar Das ji
(c) Guru Ram Das ji

(d) Guru Arjan Dev ji

137. “In 1590, foundation of a new city
was laid between the rivers Ravi
and Beas by Guru Arjan Dev ji.”

What was the name of that city?
(a) Amritsar

(b) Batala

(c) Moga

(d) Tarn Taran

138. When was the first Treaty of
Lahore signed?

(a) 9th March, 1844
(b) 9th March, 1845
(c) 9th March, 1846
(d) 9th March, 1847

(c) Subtropical pine vegetation ..

' 136. 35 fefinr &5 fam g9 wriaes §

135. “Uqw @ €9 42 fedt 939 wd
&t fega fon famy <t gyt ¥
w3 517 fem ags a9, faag i
et wemudt _ . 9
(a) €r< d3T9 gaAudt
(b) €FE ¥Fd u3TF FEHUSt
() Su-gre dts wonust
(d) Bu-Gre wftea yordt ey

Ht-ye’ & marvsr #iFt 7
(a) Ell‘g”ﬁ?l?@%’?ﬂ |
(b) I »HIEH H

() TG IHEH H

(@) g wewE &=

137. 1590 <3, @gméc—z’;ﬁm
T2t w3 fe Sfom ¢ fegag g
a< "fqg &t afg Rt et #

8r "fgg v s &t "7
(a) »ifiEFa

(b) H&

(c) Ham

(d) 3J&3TS

138. BJ9 &t ufodt Adt 3 & oRys
A3 IE?

(a) 9 W99, 1844
(b) 9 H'J9, 1845
(c) 9WId, 1846
(d) 9W'J9, 1847

/1-B
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[139. Who is the present Governor of
Punjab State? _

(a) Vijayender Pal Singh Badnore
(b) Charanjit Singh Channi

(c) Harjot Singh Bains

(d) Banwarilal Purohit

140. Which, of the following is the
State animal of Punjab?

(a) Blackbuck
(b) Chinkara

(c) Wild Buffalo
(d) Elephant

is 65 kg. If the average weight of C
and Bis 61-5 kg and the average
weight of A and Cis 685 kg, then
the weight of C (in kg)is

(a) 65
(b) 67
(c) 60
(d) 68

142. A motorboat goes 24 km in 2
hours along the stream and
10 km in 1 hour against the
stream. The speed of the
motorboat in kilometers per hour

' 140, fegat f&d fagzT dag & 9w

141. The average weight of A, Band C |

139.%@%%@%&383?
| (a) feieg us fifw 5e69

(b) wasHI3 fAw I3t

(c) Tan3z frw &R

(@) Towdt B8 Y3fT3

&9 97
(a) @ fads
(b) foamar
() et s
(d) Tt
141. A, Bw3 Co W3 L gsﬁé‘ 3
Fo@ Cw3 B wIn3 99 613 a5
o m%mﬂéce*ﬁmga'a@
fa@ g, ycwm(ﬁﬁﬁq)aﬁ
?r’? \

(a) 65
(b) 67 AT
(c) 60
(d) 68

142. f€ Hegde g @ &% 2 We &
24 foft w2 gar @ foudts 1 wR
&9 10 foft It 1 Heade &)

is 3839 fadtes yft wer fRe ft 32
(@) 14 (@) 14
(b) 10 (b) 10
(¢) 11 € 11
(d) 12 (d) 12
/1-B | P.T.O.
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143. Ravi, Mohan and Govind can
complete a task in 12 days, 10
days and 15 days respectively. In
how many days can Ravi, Mohan
and Govind together complete
the same task?

(@) 8 |

(b) 4

(€ 2

(d) 6

A, B and C started a business.
Twice the investment of A is
‘equal to thrice the investment of
B and also five times the

144.

after a year is ¥ 155 lakhs, then
the share of B in the profit
(in ¥ lakhs) is

(@ 7-5

(b). 3

(c) 45

(d) 5

If 3x+2y =7 and 4x-y =24, then
‘x—y;?

(a) 9

(b) 1

(¢ -9

(d -1

145

146.1f the difference between
compound interest and simple
interest on a certain sum of
money for 3 years at 5% p.a. is
¥ 122, then the sum is

(a) ¥ 25,000

(b) ¥ 19,000

() ¥ 16,000

(d) None of the above

investment of C. If the total profit

143.99, Hus w3 dfee s aaw §
v 12 fes, 10 fes #3 15 fo
&9 ygr 39 Hae I5| I, HIS w3
dfde fug & GF 90 § 95 fosi
&9 ygr 39 AIE T57
(@) 8

(b) 4

() 2

(d) 6

A, Bn3 C& feq dH 53 1371 AT
S99 feem B fasm e s g @
gIHg I w3 cE farm S U e ¥
H9H J1 Had o A'® € g™ 98
IHT ¥ 155 BY qUT I, 3 Hae
feg Bu fow (By gue f&9) fda
J[r?
(@) 75
(b) 3
(c) 45
(d) 5

144,

145. 799 3x+2y=7 M3 4x-y=24 3
3 x-y=>?
(a) 9
(b) 1
() -9
(d) -1

.Hdd 5% yIt AS '3 3 et B
fea fonfas gav '3 furfaz fomm
3 AIs fenma feg »igg 3 122
JUE J, 37 feg ga it I3t .
(a) ¥ 25,000

(b) ¥ 19,000

(c) ¥ 16,000

(@) Tus &3 fed aft & A
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147,

(a)

148,

(b)

149.

The value of x for which the
expressions 12 -6x and 4x+ 2
become equal is

0
(b) 2
() 1

(d) 4

If -S—th of %th of a numl;erlis 192,
then %th of the number-is

(a) 105
77
(c) 80

d) 36

Evaluate [7+7*(7+7/ 7)]-+ 717
(a) 10 |
(b) S
(c) 63

(d) 64

150. The value of

8-[8-(5+8)-{8-(8-5+8)}+10] is
(@) 5
(b) 20
) o

(d) 10

147 x o W5 A 3 e BE Aitee

14s:nmwaﬁﬁm§ﬁi; @aﬁﬁr g

(@ 80

149. HB'IE a9 :

(@

150. 8-[8-(5.+8)—{8Q'(8L5'4'-8).5.+IO]
Tos (00 -F

12-6xM3 4x+2 ¥9ET J AiQ
TI57?
@ 0
(b) 2
()1
(d) 4

aftn:rflgzé sTﬁreB‘Te*(‘B fam
ot 32
(@) 105
(b) 77

(d) 36 .

747+ (7477477
10

(b) 5

(c) 63

64

§-(-S +3tb]
(@ 5 W
(b) 20
()0
(d) 10
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